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Приложение № 1

РЕШЕНИЕ  УРАВНЕНИЙ

1 слагаемое  х   +   2 слагаемое   =   сумма

х   =   сумма    __    2 слагаемое

1 слагаемое   +   х   2 слагаемое   =   сумма

х   =   сумма    __   1 слагаемое

Уменьшаемое   х   __   вычитаемое   =   разность

х   =   разность   +   вычитаемое

Уменьшаемое   __   х   вычитаемое   =   разность

х   =   уменьшаемое   __   разность

1 множитель   х   *   2 множитель   =   произведение

х   =   произведение   :   2 множитель

1 множитель   *   х   2 множитель   =   произведение

х   =   произведение   :   1 множитель

Делимое   х   :   делитель   =   частное

х   =   частное   *   делитель

Делимое  :   х   делитель   =   частное

х   =  делимое   :   частное

